Year 2 - Maths Day 3 Subtraction Reasoning			Wednesday 20.5.2020  
We are continuing with subtraction today but focusing on reasoning questions today – think about your learning over the last few days. Remember to use resources, scrap paper, etc to help you. The questions get harder as you go down so try your best and do the ones you can. Mr Hirani.
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6a. Hans says this about the calculation
below.

The answer is 20 because if |

subtracted 7 tens from 5
tens, | would have 2 tens left.

Is Hans correct? Explain your answer.
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8a. Ben has subtracted a number from
seventy-four. Use the part-whole model
below to work out what number he
subtracted.

What number did he subtract?
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9b. Aisha says this about the bar model
below.

The missing number is 18
because if | subfracted four
tens from five tens, | would
have one ten left.

55

43

Is Aisha correct? Explain your answer.
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1a. Explain the mistake below.
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1b. Explain the mistake below.
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4a. Explain the mistake below.
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4b. Explain the mistake below.
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